Efficiency vs Dxy(PV)
E 0.3
0.09]
S
©0.08
>
20.07
5]
'50.06
g
©0.05

0.04

0.03

0.02

0.0

R

Ratio

0.

)5 =20-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

= “MKFIG_XIMINUS new-Towpt

—e— DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess1
—w— DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess2
— —— DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess3
I Efficienc] —— DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess4

0.3]
0.25

Lﬂ

oosf- 4k
H i i i i
g9 S .
T : : :
n: '
h--%5-
095 . .

©-1-0.8-0.6-0.4-0.2 0 0.20.4 0608 1
TP dxy(PV) (cm)

s 0.1
%0.09)
kel

20.08

3
20.07
[

-é’0.0G
3}
0.05]
0.04]
0.03]
0.02
0.0

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


